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2AM: SAHED
M oaDAe CAAA
et ADAS BB TAINE 47 (el @2)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
S ALH = 0t 2,109,819 2,375,180 A 265,361
Xl 10,700
Al 2,099,119
ANANE SAAA 566,000 1,919,800 A 1,353,800
Xl 10,700
Al 555,300
a4Nae =8 ZAAHE =8 430,100 945,600 A 515,500
Xl 10,700
Al 419,400
SANHE & SSA¥E 29 19,400 51,400 A 32,000
201 Let24E] 18,400 20,400 A 2,000
01 At 22l 17,800 19,800 A 2,000
OZAZe (AR HEHIZE M2 DE
1,000,000& * 53 * 24 At 10,000
OX &=l 1,440
Owe 10,000& * 200H 200
OoME 12,000& * 2004 240
OXNEHYOFE 500,000& =« 2& 1,000
OZAIHE HMEH ZSSE AIREE 4,600
OEZHYWAX 35,0002 = 208 700
OEcdola 55,000& = 208 1,100
OE=zEHY3 =X
110,000 * 48 x 23] 880
OEZ2H dE 160,000 = 44 « 33| 1,920
oO=ZgH EY 220,000& = 4M « 23| 1,760
02 2324l 600 600 0
OS A= &3l 600,000& 600
203 YR =&l 1,000 1,000 0
03 AIMZ=XH R =AH| 1,000 1,000 0
OZANYRFZ 1,000, 000& 1,000
HEH =< 2eltl 10,700 0 10,700
Xl 10,700
202 oddl 10,700 0 10,700
Xl 10,700
01 = LH o4 1l 10,700 0 10,700
O M8t 22l bl 10,700, 000& 10,700
X 10,700
B SAZAHE(8EXY) =8 200,000 0 200,000
207 RO 200,000 0 200,000
01 | 200,000 0 200,000
OBE CABAHE(BZXNA) 48 JI28Y
200,000, 000& 200,000




2AM: SAHED
M 4ONS CAAA
el ADAS W=E TANE LY CER-ED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
ZII0IESEAE oHHAFEN GHE EHAE ZAIHE += 200,000 0 200,000
2|
401 Al HIZ 201 8] 200,000 0 200,000
01 A& HI 200,000 0 200,000
O A ZeIAHE ZH(HH)ES 170,000,000 170,000
OTAlZelHE 2 (HA )Y e Mt
FI&gI 24 30,000,000& 30,000
NAAL A 2435t 15,900 9,200 6,700
WaAs XNAdLE8d35 =8 15,900 9,200 6,700
201 Let24d] 14,900 6,200 8,700
01 At 2teltl 14,900 6,200 8,700
O3AMT ME(MXZ) 10,0008 * 2002 2,000
OXEAE ALl Al&TH 150,000& * 69 900
ONZHEY SE+F 4,000& = 2500H 1,000
OXS AL X QHLY 2 Xt &2t
10,000& * 1,000% 10,000
OMIZALY U2 M= 1,000& * 1,000 1,000
203 R =& 1,000 3,000 A 2,000
03 A F=XH S =AY 1,000 3,000 A 2,000
OXNSHE -3 =& 1,000,000 1,000
A2 Sicte @S A EFUESD| 120,000 965,000 A 845,000
SAFBEBESS AL 2F2e 120,000 60,000 60,000
201 et 120,000 60,000 60,000
01 At 22l 120,000 60,000 60,000
OKRAS 2& & 2¢2l 800,000& =« 75kt 60,000
OJSSAAEY 2 (XM= HA) 10,000,000 10,000
OWPIS2E (Htz ) 50,000,000& 50,000
HE2AZHI (S AIAED) 43,819 55,380 A 11,561
el 2 8,359 5,552 2,807
oI 244l 8,359 5,552 2,807
101 @124 dl 8,359 5,552 2,807
02 JIEt& B = 8,359 5,552 2,807
OYIIN HAR =224
9,649 * 2H * 30AI2F » 123 6,948
OANZIHEH LM 2222
3,919% = 30AI2t = 128 1,411
JlEZ3l 35,460 49,828 A 14,368
JlE&l 35,460 49,828 A 14,368
201 Zer24] 15,060 17,068 A2,008
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I 2HAH(ZAIAHED)

X ZH
S =

S ALH =

¢l =gl el xel)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
01 At 22l 15,060 17,068 A2,008
oJl2geda=aH(JI1E&Hl)
500,000& = 159 7,500
O=ZHI(J1E&HI) 7,560,000 7,560
202 oddl 16,200 18,360 A 2,160
01 SLHOIYI 16,200 18,360 A 2,160
O=UdabI(2IEZHl) 16,200, 000& 16,200
203 YR =&l 4,200 4,200 0
04 RENSELR=LH 4,200 4,200 0
O©J| & (300! 0ldt) 350,000& = 12& 4,200
MEES (S AIAHED) 1,500,000 400,000 1,100,000
HEAHHK = 1,500,000 400,000 1,100,000
HEAHHXIE(Z A& D) 1,500,000 400,000 1,100,000
701 JIEtel HSHES 1,500,000 400,000 1,100,000
01 JIEtel HE &= 1,500,000 400,000 1,100,000
OUXEZ4L EE3IH ¥&2  1,500,000,000& 1,500,000






